
22

LOGOS

�������������
������������������
��������������������

����
� ��� �
�
�

�����
�� �	���
��&'	� ��
�
2
�3�� 3	.�� ����������������
�	
�� 
���
��

	�M�	��	��
��2

C����� 	� �
�� �	� �5���	� 8+999$
(�
��2(
�	�� ��
� �	���
�

� ��� �����
������ �	�	� ����
$� ������� �	���� =�2
,��$� �	�.�����	� �� �
1��
�� ��� 	���
2
��&'	� �� �� �
1��
�� ��� 	
���
,�&'	�
���������������� �7�
������
	�	�
�$
�
�����
����
�&�
����������	��
����2
�

�
�� >��

����	
��$� ���

������$� ��2
�	�
�����?$� 
��
����	2	�� �� .����
2��
�� �� �	�
�
,�
2��� ��
�� ���
���
��� �
@
��-

��� ������� �	�� ���
	�� �	�
�
2
�	��	����	
���

��7��	��

�
�	�����	��

2
��

���
���	
����
����	�
1��
���	��
�2
������ B�� ����
�$� �	�	� �	� �	���	
����
	����&'	����9�
�.�$����
����	
2
��
2��� ��-��	�	��

�� �
�'	� �	�
�
�
���� ��� ������	
�	������������	

��	
�D�
�������	�
�2
�������
�
�
��
�������������1��
���$
���	
���'	����3��������
�	��������2
�	�� �	�
�� �	���
��&'	$� ����� 
�5
��
����
	���
����� �4�
���� �
	������ 
�2
���1��
�� �	�
�� 	� ����	� �	���
��2
�
	���� ���	� ���	� ��� /��� �� �	&'	� ��
�	���
��&'	� ��� ��
	4
�	�� �
	�
��2
�
�������� ���� �	&0��� ��� ������	�2
�
����	� �� �
���
����	�� *������
�	����/������	�
�����$��	������	�2
.���	$� ��
��������� ���F���	�� ��
�
���
����	$����
���
�������&0������2
�	���� �	�� ���F���	�� 
��
�
���
��
G������	� �	���� ����� �� ���3	
� �	2
�
���	�	��	��/���	��
�����
�������
����

�� �	�	� �	������ 	�� ���F��2
�	���	�
�
�V����
��	��
�������

	

��2
���$��	���2����������
�
��	�3��
�	��
������1��
�� ��� �	�
	�	�
�� ��� 
���2
&'	�E��
	�	�
��H� >(�
�3$�����$� ���Q?

�	� ������� 	
���
,��	� ��� ����
�	���	
���	� 	�� ��,���	�� ��	�� ��
����
����	� ��� ������	� �	���$� ��

�	� �	�
�
�
��	$� ����	� 	� *
	����	

:�����	�
��	�	�
���
�	���	
$����/���2

�
�
�����	�
��
�	��
	�	
�
	���	������
�	���� ����	�	�
��� G��	���
,�����H� �
	� ��� ���� ��	�	�7�
��� ��
�
���$� �
��2
�����

�� �� �
������
	���$� ����
2
�
������ ��� �42�	���3'	� �	�� ����2
�����	�� ����
F�
�	��

!��� 
����4'	� �	�
�� 	� �	�����	2

D��	� ����2�	�� �	� �5���	� 898$� /���2
�	����4��	�'	������5��
�����
	�
�
	�
	� ���
��
����	� ��� ��� ���������	
�	�
���	� ���	� ������	��
����
��	$
����� 	
���
,�&'	� �� ����� 	
����� �
3
��-

�� ��� �	���
��&'	� ��� �����

���
�
����� E� �
����	
��&'	� ��� ����
��
	��� �	� �5���	� 898$� �	�� (�
��2
(
�	�$� �	���$� :���3��$� C�
R
�$� �
�	���
��&'	����
��
�2�������	
�����
��� 	
���
��	$� ��� ��� �	
�	� �	�
����� ���	�� ����L7��	�$� -
�'	�$� ���2
&0��� ������ �� �����	
�� �
	�-�
��� �	2
�
��
������
1��
����	�
�
��������	�
�
5��

�
����� 
���� 
���
���
	���$��	��2
40��� ��
�
�� /��� ����� ���
-�	���� �
�	�F�
����������
		
���
��	��9����2
��

�� �� %
��&�� �
�
���� E� 5�	��$� 	
�	��
$� ��� �	
��� �
��
�5�

���� B� 
�2
�5

	� 
���1�� �� ���� ������	��
����	

�����

����	��

,���	��	��
���	�F�
2
�	$���/����	���%
��&�����5��	���
�2
�
�	� �����
���� C�� /���/��
� �	
��$� 3�2
�
�� ��� ����
����	� ��
��� ��� /��� 	
���������	� ���
��	�5�
�	� .�� �'	
���������G���
�5
��������
����/����.�2
��
��� 	�� ���
��	���
����� �� �
��
� �
	
�������
���.���'	��������H�>:����2
��
�$����Y$�����Y?��
���
�����������
2
��

� ������ ����
��� ����
�
�	
��� �
���	
���
,��	
��$� ������ ����
��� ��

���

�
&'	� �
���7�
��$� �	
� ��� �����2
����	� �� ���� �
��
��� �	�
�
�	��

"�(!:B
����� �
�
�	� �
������� �����
� �� ���
�2
���������&'	� ��� �	���
��&'	� �	�2
����	
D���$� ����	� �	�	� 3	

,	���� 	
���������	� ��� ������	� �	���$� ���
�
�'	� �	�
�
�
���� �� 	� 
���
��

	� ��� �	2
���
��&'	� �	�	� 	
���
��	� �	� �
���
�	� �5���	�898�
*����
��2�3���M� ��	���
,�&'	V� �	�
�
2
�
��	V� �	����

�������
�� ��� ����	
�� ����� ��� ��������
� ���
����
�
���������	����������%�	����4
��	����� � �� � ��� � ����0�� � �� � ��
���
����� �� ����
��� !� ���� ����������� ���)
���� ���� ���
����
� ��� 	������	�����
������ ��������������� ����������� ����#$ ��

	�����%&
,�%)����-� 

���
�0�����.� ����������.
�����&

�1���12
1���� ���3	�
�� ��� �������� �� ������� 
�
�����

������	�5����� 
��	�����	�	�5�
	������������!� ��������� 	���� ����4
0����� �
� ������������ ��� ��
����
�����! � �� � ����5� � ����������� � %� �

���
������� ��� 
�� 	�����	�	�5�� 	���
��
������������������������
���

��6'6&
7�
�����4	
���- � 

���
�0�	�5�. � �� 4
���������.������&



23

LOGOS

�0��� �

�
��� .���������� ��� �	
�	
�	�� ���
�3	�� �	���	�� ����� �	�
	�	2
�
�� �	� �	����	� ������ ��� �	��
	��	
�	��	���
�
���������
1��
��/����	���
�����

�&'	$�
��
��
���	�	������	�
�2
����	�� �	� ����	� �	���
���
	�����

�	��	�����	
D��	$����
�3������	2
�
	�	�
���	��
����
��$��	���������2
�	��	���
�
����
$��	��
-4
�	$�E����5�
2
��$�E���
�
	���	
������$���
�����
�2
����
�
2��� �	� 
��
	���
��	� ��� 	
���
�� �	� ������	��
����	� �
����	�� �	

/������3����/����
���������

	���2
��
���
���
���
����
���
���
���
	��
�
>:�����	�
$�����?�C
��
�
��	���� �
�3�

��� ���������	� ��� �	�
	�	�
�� �	�2
�
����
��$� �	�������	�� /��$� ��� 	
2
��������	���
��&'	$����
��
�2����
�2
��������
�
����	2�	�
�
�
���$���-��	�	
��� 
��	
���
,�&'	��	�����	$�/����1
��� ��	���
,�&'	� �� ��	�
�� /��� 	�� �	
�5���	� 898� �
��� ��� ��
��
���
,�&'	�

�����	

���	��5���	�898��������
��� ����	�	�
�� �� 
��	��
�
�&'	� �	�
�����	�
��	�� �	�
�
�� �� ��� �4�	�
2
&0��� ��
��
��
�� �'	� �
	��� �
��	� �
��
�

��������������������	��5���	
898�� ��� �4�	�
&0��� ��
��
��
�� 
�
2
�
����� ��� %
��&�� ��
�
�3����� �	�
	� �
	�
���	� ���� 
����� ��� �	���
2

��&'	� 	� ����	� 
���
��

	$� �� ���2
�����������������
�7�	���
�
�	���
�	���
����� �� ��� �	���3'	� 3���2
���� �	�� �� �	���
�&'	� �	� �
�	� ��
��� �7����	� ��
��
����

:�
�	�� �	
��� 	�� ��
�	�� �	� �
	2
.��	� �	��
�	� ��� ��
��
���
,�&'	� ���2
���	���	�������	��
����	�����	��2
�
��&'	�� ��� �4�	�
&'	� ��
��
���� ��
*�

�������U�$��	
�	�2������
�������

2
��

�� �
��&'	� �����
��
��� �	
� ���	
�����

�	� ���
�� C	��
� �� ����
��� ��
�����UU$������
����5�	����
��3	� ����2
�
��
�	� 
��
���	
� �	� ����	2���

��2
�	�C��
��@��3���������QY$����%
��2
�5��
�$��	���	
���	�	��������

	���

�������1��
�����

����$�	� �����	��
����
�3���6��������
	�	��������

��
2

����,��������Z$�����3
���	$������2
.	�2��� �� �

��

�� �
�3�� 
���

	
���
�3
���	2�	��� 9	
/���� (���

��2��
	�� ����
�� 
���
	��D�
�	�$� 	� ��� (��,
>����?� �� 	� ��� *������� )����	� �	
���	
$� ����
�� ��� �	��� ��
��$� ��5� �
�4��	�'	� ��� ����

�
����� ��� �4�	�
2
&'	� 9���
���
	���� ��� ����$� ��� %
��2
&�$� �
1�� ��	�� ���	
�� ��� 
����&'	� ��
�D������ 
������������������
�	���I

��	
������ ���
����
� /��$� �	� �	��
�2


	� ���� �4�	�
&0��� ����

	
��$� �	�	
�������� �
����� :������
�$� �-� ��
�
2
�
��
���/�
�,����&0��$����������
2
	

����
	�5
��$���5���	�#��'	����!�$
�	��
����	���������
���
�������
����2
�

�
�� �	�� ��7���� /��� �
	��,
��� ��
����� ���
��&0���� B�� �
	�
���	�� �	
���5�
��	$� ���	�� �����

�	�$� ���
2
�3	� ��� ��

	$� ������&'	$� �	�-�
��	
>��Q�� O� ��
�	�?� �'	� ������	�� ��

��
���� ������ 	���
'	�� ��� 
������
����5�� ���'	� �
�������� ���� �4�	2
�
&0��M� �	�	�
��
�� �� ����� ����&	�$� �

������ ��
����� >�
�4
	��-�
	?$� ���2
�
����	� �	�� �� �4�	�
&'	� ��� *�

�
��� ��[[� �� �� �
��������� �	�� 

�'	�
=��
\
���B� �
���$��	��5���	�88$� �	
2
��2���	��7��	�	������
��
���
������GB
�
����3��	
� �	�� ��� �	������

	� �	2
�
�� 5� 
����� �	� �
���
���� >���?�� ��
��5�
������ ��
	� ���
�	$� 	�� �4�
��	�� ��
�	�
������ ��
	4
���2��� ��� ����	
����	�	��
	$��	�
���
������
��/�
�7�

	
��� �	��
&'	� 3������H� >:�����	�
$
����$����U�?

*�
���
�����:������
�$�������
�'	
�	�����	$�������
�	��	�	�	�
�
����
��
���	� ��
�	�$� ��&0��� ��������2
��� �����������$� ��&0��� ��������2
��� 
���
�
���� ������	� ���� �
�
�'	

���
���
	���� �	� �
����3	� /��� ��� 
��2



24

LOGOS

�
���

�� ��� ����
�,�� ���� �	
���$� �'	

��
���� E� ����
��� ��� ��
�	�
��
�� �	�
���4	�� ��� �	���
��&'	� ��� �
�� �	�

��5

	��� >:������
�$� ���Y?� �	� �5��2
�	�898����	�
�7�
	��	��5���	�88$�	����2
������	� ��� �

�&'	� ��� ���� 	
���
��
��
���$� ���	
�� �	�� ����� ���	2
�
��
��$� �

	�� ���� 3
�
�
/�
,�&'	
����
��� ����
���� 
�
�
�������� �	�
�
������ 
��5

	�� /��� �	��

,����� �
�	���
��&'	� ���� �	�F�
��� �� �	���2


	
������ �	�� �	
�� �
������ ��	�	�
���
���
��	�� �	
� �!�� �� "���
�$� /��
�����
��� �� �	��

,�
� 	� ����	�

(�� �	���
�
�	�� 	� �
	.��	� ��
��
��
���
,�&'	� �	� ��� ��	���
,�&'	$
���2��� 3	.�� ���� �����&'	� ��� �	
2
���� ���
��	� �	� �	��
	���� C��
��
6������/���	��
��
�
���	���
���
	2
����	� �
����
�
�	� ����� 
�5
�� ��
��	���
,�&'	� 5� 	� �	� ��
���
� 
���2
��
�
���	$� 
��
��
��
���	� �� ��� ���	
�
	����'	� �	�� ������	�� ����
�
�$� �
���1��
�� ��� ��� ����
	$� ��� ��� ��
2
���� ��� �	��
	��$� ��� ���� �	�
��'	
�

��	
�$����������
��������
�
��
�2
�
�	��(������
��
���
,�&'	�����
���
	2
.��	�$� �� ��	���
,�&'	� ��� ����
� �� �
	2
.�&0��� 
�����
������ >6�����$�����?

������ ����
�	$� �� 
������ ��
��	���
,�&'	� �	�	��2��� E� ��
��� ��

�5
�������
��
���
,�&'	V���
���	��
	2
.��	��	��
�	�/���������
	������
��

�
�� 
�5
�������
��
���
,�&'	$� �	�	���
�
�$� �	
� ���3���� �� ��
�

� �	�� 
���
2
�	���5��
�	�������	�7�
�����	��
���
�������
���$�.�����������	��	��
	�
�	���
�	�� �	�	� �
�
�
,�&'	$� �����2
�	��
����	$��
	�
���	$����	��������
���3	
�
� ��� �	��
&0��� ��� �
��� ��
������� ����
���

:
�3��� :�����	�
$� �� �
	�-�
�	� �	
����7�
	��	�
�
�
�����	���

�-
�
	����
�	�
	�	�
�� /��� ��
��� 	� �
���� �	� �52
���	�898$��	�����/��������5�	����	�2
��
� ���� �
������ ��� 
�����
��&'	� �
/��� ���� �
����� ����1��
�� ��4
2
�F�
��� 
�
�
�2��� �	�� ��� =�,���� GB
������	��
	��	�����	$�/���.��3��
�

�����
��	� 	� ��,
	� ���� ��	
������ �
�	�� ����	�$� ���
�� �
	�����

� ��
���� ��
��$� �	
����	� �
�����
����� �
	����
�����
���

	����
�������	�
�2
�����H�>:�����	�
$�����$���UX?���	�2
���	����	
���������
���������
�����
5�	��������� 
��	

�
��	���
	����	�
���	

	�	�������
1��
�������
�
����
�
������
����
���
�������	�
�
��������2
��� 5� �� ��� �	�
������ ��
��
��$� ���
����������
��
�
	�	��	��
���
��

	��

%�,�����
�	�����/L1��
���	��
�������
�
1���
��M��
	�-�
��$������7�
������
��2
�7�
���� <
����	
��
� ��� ��
�� ��� �
�
	�	2
�
�� ��� ��
�� �	�
�
�$� ���� �	�	� �	�2
������ (�
��� 6����$� 5� 	� �
	.��	� /��
��
���� ���� ��	���� �	� �
�� �	� �5���	
898�� B�� 
����
�
��	�$� 	�� �	��
��
�-2


	�� ������ ������
���
� ��
�� /��� 	
�	��
��	��	�
�������4�
&�$��	�	����
������	�� %	�������� :���	� �� ��
��2
����	���4	��������
����������
���

�	����
� :�����	�
� /��� ��� �
��2
�
��	�/����	�
�	��	��5���	�898��'	
5� ��
�� ���/���	� ��
�� ��
�����
� �
���	
����������	��7����G����

����H
���� �	���
��&0��� /��� ��� ����
����
�	
�������	�������	��	���
����:�
2
�	�� �����	�� /��� G����

��H� �
	�
2
�
�
� �� G	
���� �� �
	�
���	H� �	�
2
�
�
����� �	��
��2��� 
�����,��� ��
��
�
� �� ��


� 	�� 
���
�	�� �������2


	����
��������
���$���
����	������	2
��
��
�� �
�
��
$� ��	�F�
��� �� �����2

����(�����	�7�
�����
��
���
���������2
�
���������
��&'	������
	���

�����
����� �����	$� �
	�
���
�������� ��
2
���� 	�� �
��	�� ��� �����	�� �

���	
���� 
����
�&'	� ���
�2�������� �	�
�	
������
���	�	���B���'	2��
�3��	�
������� �� ��
� �
��	�� �	�	� ���
/��2
�	�$�������	���	��

��7�
	�����	��2

��
�� ��������� �� 
��
�� ������ �� ��

�����
� ��
��&��� �� ���
���
� ����&	�
����
�� ��
	
��� ��� �	��
��
��

)����	� �����

	�2��� �� �	
�
��$
3��
�� �����	�� ���� /���/��
� �	��
$
���
��� ��/���
���� /��� 
���������$
����	� ���
�$� �����	� �
-�

	�� 3�2
�
�� �	������ ���3�����&0����������2
�	� ���� ��
	���� ����
��
����� �� ����2
�	� ���� �
��
����� ������� ��
�� ���2
��
����
��	��&'	��������
�������1�2
�
�� �	�7�
��$� ��	�F�
��� �� �
�
��
� �	
:�������� ��
��&�����B<���

B� �

�5� ��� �	��
��
�� �	
� ������	
��� ����� ������ �� �� ��	�	�
�� �	
� �
��
����������������&0��2�����	���	
2
���2��� �4����
���� ��� �	
&��� /��
�'	� �	��
	���� �	�
�
��������� G�	�
�������������

�������
�7��$������	2
��
��
�� �� 
�������1��
�� ��������$
���� ������� �	�7�
��� �������$� �� ��2
&'	2�����	� �	
��2��� ��� ��
	� ��
�
2
&	� ��� ����
��&�� ��� ����2���
�2
����H>6�����$� ����$� ��YZ?

����� �	����	� /��� ��
������2
�	�� 
�����
�� �
�����0��� 
��
��
�
�	�
�� �� 	�&'	� ����� G����
��
����H
��	������	�
��
��$����	���	���
��	����
���3	� 
��
���$� /����	� ��� ��
����� �

3	
��5� ���������� 
����4'	$����	�
�2
&'	���
����
���
�&'	��	��������	����2
���	�2��&0��� ���
�/���
�	�� ���	�
�

��
	������	�� �	���/L������ ��
�����
�
1��
�� E� ���
-�	��� 	�� �� ��
��	�	�����	��
��(������	���
,�&'	�	��2

���� ���� ��
��� ���
����������&'	$
������������
�����������	
����	��2
�
����� �� �	�7�
��$� ��� �	
��� /��� 	�
��7���� ��� ������	��
����	� �� ����
��
���	�� �'	� �

��� .	������� ��
�'	� ��� ���
0��� 
��
�7��
�� /��� ��2
������� 
	����	����
������ 9���
����
�� 3	
�� 5� ��� ��

��
� ��


�-

	�$� ��2
�����
��
	���

��$��

�
�5�
������
��/��
	� �	�
����	� �	�� ���2��

�� �'	� ��
���������	�����	��

������"������

�	���� 5� �����
� �	��	�� �
�
���� ��
�	����4
����� �	� G��	���H�� �	�	
����
�� :
�3��� :�����	�
$� �����	�
�
������������
�'	���
��
���
,������	
�	�
�
�
��	� �	�
���	
�� 9��	� ��� ��2
�	��
	� �� ���� �
�'	� �

�����
���$� /��
�
1� �� ���	� �	��
� ���
��
$� �� �	�
	�	2
�
���	��
����
���/��������
	�0����
2
�
�
��� ��� ���� G�
�������1��
�

�������H$�/����
	����	��
-�

	��	
2
�	� �	�
���� ������ ��
�����
��$� �'	
G�	���7�	�H� �� ��
����� O� ���
�����	���	
�����
	��������G��
��H
��
������ >:�����	�
$� ����?

��12-��������!������
����
���*���������
# 34��$%5� ���
��� ������������	 ��
������	���	�������	��	����� 	!��"��� 5
#�����$��	 ��	 %&�'����� � 5� ��
 ���	��	(��%�5�)��	(��%�	�	����
����	%����&

�
�%�
�� (��
��

	� �	���
���� �	�
�� 	� *�������2
�	� (	�
��� O� W[[� ��	�� ��� ������	� �	����
*�
�
�
������M� :
�3��� :�����	�
$� *��

�;
<�������$� =�
,� %��
��� 6�1��� �����$� �7,
�
+
���&����"
��
�	�%�

�

��%
�
�����"
	����#�2
��

	$�.����
����/����
��7��%�����8��8&���,���

C�.)�
&�%*�%
9�*��:�� ];���"��� <�,�%�����:��������
��������1�0=$��7"5�L
���
�0�/$�-����	����4
'M0�	�����������&�(%�����>�"�%#�5�]�2�#�
�&&&�

��??�)�@7���%/2���� N�	����	�������	�4
�����(%�����>�"�%#�5�9#��%�%�"�����&���

�����@�(����#��"����������/$�����	���4
��	�/$���@%�
��5�!%�������&&A�

)�7�B����� ��	������ ��� ��������� !�#%�5
C�%�����%"�������


